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T -1/ PART -1

[3]

[A]

a1 g g fenss / CHILD DEVELOPMENT AND PEDAGOGY
R@sr : =i god] % Gav @7 & [T @@ fEd 4w g

Direction : Answer the following questions by selecting the most appropriate option.

1.

fr=ifed & @ @9-A1 MR &N 3 U

gfE ® UF THR TeT & 7

(1) g g

(2) 9l g

(3) e T TOHE i

4) FSIHE g

frifhd & & BF-91 B9 99 &7 € °

(1) g eremar wd oIfeEm aremar
2N g9 Tl E |

(2) A AT A awm B IQ
iYad ®9 ¥ 709 F9 Nl @med |

(3) difh Aerw 18 a¥ & g A @
Bl 2|

(4) SfE®d Fowar T STREH ST
2T & e ST § |
FESMY & [9hE & TR oo
R & AR, ‘A w1 e

frifeeg & & fpm o H gwifed B °

(1) g&q o= (2) geq I

(3) il g (4) T A

TF Al N g= & gy fem & S
Ted 3 Aol U qUihdl Il &1 STl
g 3@l B P B AR 99 At T2 &
dde 9 guiRdr AT 2, 98GRk aiad
g wall TRERE TR B @
2| 93 FT IE FgeR gy e B

(1) w9 ud Ffe gRT AFM P
(2) T AT A

(3) fopan-ugd STgde &

(4) HMEISTR e &
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1.

Which of the following is not a type of
intelligence as proposed by Gardener ?
(1) Musical Intelligence

(2) Linguistic Intelligence

(3) Logico-Mathematical Intelligence

(4) Creative Intelligence

Which of the following statement is not

correct ?

(1) Intellectual Disability and Learning
Disability are not same.

(2) A child with learning disability
essentially has an IQ score less
than 70.

(3) Intellectual Disability occurs before
age 18.

(4) Intellectual Disability and learning
Disability both are Developmental
Disability.

Which of the following system contains

'Parents Work Place' as per the

Bronfenbrenner's Ecological Theory of

Development ?

(1) Micro System (2) Macro System

(3) Meso System (4) Exo System

A mother gently strokes her infant's
forehead each time immediate before
breast feeding. Soon, she noticed that
each time the baby's forehead is
stroked, he makes active sucking
movement. The baby's behaviour best
describes :

(1) Trial and Error learning

(2) Classical Conditioning

(3) Operant Conditioning

(4) Social Learning

P.T.O.
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freifed & @ @A wF AHwRy

foepra &1 & % Haw § HEl 7 E 7

(1) T8 aicedl & = & 21 ¢ |

(2) T& T > GEd H OAHAA B I
T MeiRg e 21

(3) & ST FE/fpaet & e B R
ge faT gEdl @ "eEdar & QU
Tt HT Tehar ofiX 1 & Wad w9 4
WY Y T B |

(4) 98 3T FA & I=9 G 2 @
qed] AEAAYEE @ad B d &
el 2 |

fr=ifhd § 9 B9-91 %9 T Te 8 7

(1) rEld orgeee UfEss @@eri 8
e 2 |

(2) FRAT-Ugd orjded URsd @EErl |
e 2 |

(3) e IEET fEh e 4
e B |

@) Frorsga ogEE H o ‘gRem
FIHET F T HewdqTl B ¢ |

g 3 fEdET § @F oA w9 Y
PR foar o, 9hg U T e SHe
ST a9 W A O 39 0 e
W uF el a9 geT ) s % 29
TR ATl Hl HET o Gl 8

(1) SE9% AHFIRTT

(2) SEUH fa9es

(3) @d: gAmitd

(4) fota=

fr=ifed ® 9 ®9-9 utew A &
TS fabr @t Uk Tef § ?

(1) afFas
(2) STCHATRLT

(3) STgHe
(4) QT

Level-2/3211

[4]

Which of the following is rot true about

"Zone of Proximal Development' ?

(1) Itisrelated to Vygotsky's Theory.

(2) It sets the upper limit on what the
child is capable to learn.

(3) It is a range of tasks that a learner
cannot perform without help of
others but yet cannot perform
independently.

(4) It is the upper limit of a task that a
learner can successfully perform
independently.

Which of the following statement is not

true ?

(1) Classical conditioning deals with
voluntary behaviours.

(2) Operant conditioning deals with
voluntary behaviours.

(3) Classical conditioning deals with
involuntary behaviours.

4) In operant conditioning,
'consequences’ are important in
framing an association.

Meeta has overcome her fear of toy-

snakes. However on one occasion her

fear returned when she found toy-snake
on her bed. Such return of fear can be
termed as :

(1) Stimulus Generalization

(2) Stimulus Discrimination

(3) Spontaneous Recovery

(4) Extinction

Which of the following is not a process

of Cognitive Development as given by

Piaget ?

(1) Assimilation

(2) Accommodation

(3) Adaptation

(4) Shaping



9.

10.

11.

12.

13.

w B R W aed gfE @
IMET  (Triarchial) fErd & SINGIK
Frfifed & 9 ®E-91 5 #1 6 TH5R
TR ?

(1) fascioomeres gis

(2) IS s

(3) e gi=

@) AR gs

T FAA GH A0 G gomed, ¥ gen
geme, eied & 4 fhE @R @
ﬁﬁwaﬁﬁgﬁmw%?ﬁwﬁa
fomer 9 san ¢

(1) T8I & HAfdehar & TR

(2) yd wieardl Afcbar

(3) aTEIaaTs

(4) A § FE d@99 T 2
Frtifed & | diF-a1 el e 4
e 787 & ?

(1) foees

(2) @ gt
(3) QT

(4) TEUH a9

“TAAT P GETH e & ¥

(1) &gere e

) @ &% 9

(3) o Tho X

(4) Sto o Fedd o

frfeafad & & S9-1 f9heq AT

T AT & ST 7Ef ST & 7

(1) gMiiSTs &7 § SFJHIET Haer &l
IEekll

(2) AHISE B 8 TR qHET
frate &

(3) It g &1 fasr
(4) SACTDET HGET B SFIHIE
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10.

11.

12,

13.

[A]
Which of the following type is not a
type of Intelligence, as given in
Sternberg's  Triarchial Theory of
successful intelligence ?
(1) Analytical Intelligence
(2) Creative Intelligence
(3) Musical Intelligence
(4) Practical Intelligence
The example 'you scratch my back and 1
will scratch yours', indicates which type
of morality as given by Piaget ?
(1) Beginning of Morality of Co-
operation
Pre-conventional morality
Realism

2
3)
“)
Which of the following is not related to
the classical conditioning experiment ?

Not related to moral concern

(1) Extinction

(2) Spontaneous Recovery
(3) Shaping

(4) Stimulus Discrimination

'Autism' was first described by :
(1) Samuel Kirk

(2) Leo Kanner

(3) B.F. Skinner

(4) J. B. Watson

Out of the following alternative which
one is not comes under processes in
socialization ?

(1) Learning to behave in socially
approved way

2
3)
4

Playing approved social roles
Development of social attitudes
Approval of egocentric behaviour

P.T.O.
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14.

15.

16.

17.

18.

19.

9B AT S ARSI & aRe A
g@%&m%ﬁfmﬁmw%ﬁww

(1) TRTHE STHAT

(2) TS ST

(3) SR ST

(4) TS SThe

o9 R & d@emns faee & fMEr

% FPEAN UF e GO & e
Rl TS H Ter & Sl ©

(1) Hadl e oEer |

(2) Y4 SR S §

(3) i Wik e |

(4) Slvene dfpares orawr §
e & APAR, FBT /A
e & ST I B Hahd ©

(1) gd aifesh Aferbar &

(2) U ANfph Afcpar H

(3) ek AAfcrpar &

(4) Afcerd ®1 G

I ¥ & o 9 fawEw Wer &
ge H o §9 3gE H@-uar @
T T B G ABY MY | T fifRg A
giﬁ?&rwaﬁ‘w@ﬁﬁ’aﬁrw
?

(1) 9T (2) &

(3) TEHERT  (4) foREds
Frfifed & @ @d9-a1 oo Qg &
TR’ 1 TF TER TET e 7

(1) oifg FUHAT  (2) Fe

(3) T (4) FH FAFT
g@ F ‘FEag Eia’ (Three Stratum
Theory)ﬁ'EITTI'CIT%:

1) T & 8 (2) 9 % &
(3) P F EW  (4) ded B BN
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14.

15.

16.

17.

18.

19.

The Assessment done during or before
instruction is known as :

(1) Summative Assessment

(2) Formative Assessment

(3) Formal Assessment

(4) Diagnostic Assessment

In which of the following stage of
Cognitive Development, as described
by Jean Piaget, a child become capable
of understanding 'Conservation' ?

(1) Sensory Motor Stage

(2) Pre-operational Stage

(3) Concrete Operational Stage

(4) Formal Operational Stage
According to Kohlberg, Good Boy/Good
Girl orientation indicates :

(1) Pre conventional Morality

(2) Post conventional Morality
(3) Conventional Morality

(4) Relative Morality

Four year old Binny started wetting her
bed after her parents brings home a new
baby. Which of the following type
'defense mechanism' it is ?

(1) Regression (2) Suppression
(3) Rationalization(4) Displacement

Which of the following is not an
example of newborn 'reflexes' ?

(1) Eye blink (2) Sucking

(3) Swimming  (4) Driving Car

The 'Three Stratum Theory' of
Intelligence was given by :

(1) Piaget (2) Binnet

(3) Carrol (4) Cattle



20.

21.

22,

23.

24.

25.

fr=iifhd & @ F9-T1 HUYH GRS @
SRt & & ded ¥ 92 7@ e 7

(1) g8 9Ra=h & a1 ed a9 d Red
B 2|

(2) TE A dadr giharet # dewmar
T B |

(3) T 99T IS H HI BT 2 |

@) T& 9= F I g ¥ g H o

I TFH T AUR TE a1 W@ 2 %
AN gaE 3o & 916 Ie 1 R,
qE TART T T -

(1) 3T &

(2) Godl YsiEe @

(3) HichaTcHh TfcT

(4) gRETed Hid H

ep-gdd’ & ar § Hifed ¥ 9
HF-AT HIT FEl T& & ?

(1) qgaﬁm@am@m%

(2) T® ‘W@ = @’ (Make Believe
Play) & A9 & 91 ST STl 2 |

(3) 3HH U FIRR THIed © |
(4) T8 BHIM JTSced 2l & |

ol TR @ ARy 1 b & g
fepel e SETes b ST A1 bed €
(1) FHNIHE gﬂqw

(2) THBRIHD g"iGIQ‘I"I

3) 3

4 T

7 FHYd [k A, dEr gl

3 ded ¥ fifed & @ 9 gftesior @

gy e © 7 Eﬁ

(1) HTERETE] gRho

?2) Hﬁﬂﬁﬁf@g&ﬂ%ﬂﬁ

(3) ATl ftedhr Fi

(4) GIETEl gfteehIor &l

e TE B B G- drg

d9 ®X H G dee FOK ol
ST B | T8 SEEA ©

(1) FHERIHE e Bl

(2) TERHEG e B

(3) FENIHE & H

(4) THRHE & H

SEIE
G
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20.

21.

22,

23.

24,

25.

[A]
Which of the following is rot true about
the Broca's area of brain ?
(1) Itis located in the left frontal lobe.
(2) It supports grammatical processing.
(3) It 1is responsible for language
production.
It is responsible for comprehending
word meaning.

“)

If a child is sharing with you what he
did after he got up in the morning, he is
using his :

(1) Semantic Memory

(2) Sensory Register

(3) Procedural Memory

(4) Episodic Memory

Which of the following is not true about
dramatic play ?

(1) Itis aform of active play.

(2) Itis known as make believe play.
(3) Itinvolve overt behaviour.

(4) Itis always reproductive.

Presentation of an unpleasent stimulus
to decrease the occurrence of a response
is known as :

(1) Positive Reinforcement

(2) Negative Reinforcement

(3) Punishment

(4) Motivator

The statement 'Personality is nothing
but a set of learned responses', best
describes which of the following view
about personality ?

(1) Behaviouristic view

(2) Structuralist view

(3) Functionalist view

(4) Cognitivist view

The seat belt buzzer of a car, stops as
soon as the driver put on the seat belt. It
is an example of :

(1) Positive Reinforcement
(2) Negative Reinforcement
(3) Positive Punishment

(4) Negative Punishment

P.T.O.



[A]

26.

27.

28.

29.

30.

gl & T B ded H ied # A

HH-A1 FHAT Tel TET 8 7

(1) Ea-fhareli & e g 9o &
Ty HH eI A 2

(2) 9g WG4 & WYY YA HE
QIS B ST 2 |

(3) | T drl @RE e g
e & AL FEdl Il 2 |

(4) Y T & Y T R AN
7§ IUYH B S |

TR/ Heel STl T YRR B

(1) THSF e

(2) STEETH SFeTHT I

(3) AfGH A F

(4) gfte e &

fifhd § | fopd gieehior &l I8 [

2 % o faem us daqq ufea 7@ R 7

(1) s &1 daTeees 9 &1 s

(2) FIERAE
(3) TR A Rara
(4) unRafder 4 fer

[8]

26.

27.

28.

29.

30.

Knowing 'how to ride a bicycle' is an
example of :

(1) Procedural knowledge

(2) Declarative knowledge

(3) Explicit knowledge

(4) No option is correct

During the developmental period of
foetus' head is well developed before his
legs. This best describes which of the
following tendency of development ?

(1) Proximo-distal
(2) Cephalo-caudal
(3) Uniformity
(4) Integration

Which of the following is rot true about
children's play ?
ey

The number of play activities

decrease with increasing age.
(2) Play becomes increasingly social
with increasing age.
(3) The number of playmates increases
with increasing age.
“)

Play become
appropriate with increasing age.

increasingly  sex-
‘Dyscalculia' is a type of :

(1) Locomotor Disability

(2) Learning Disability

(3) Intellectual Disability

(4) Visual Impairment

Which of the following theory assumes
that Child Development is
continuous process ?

ey

not a

Cognitive Development theory of
Piaget

(2) Behaviourism
3)

“

Social learning theory

Ecological system theory

Level-2/3211
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HRT — 11/ PART - Il
A (R= ©d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &=/ HINDI ]

3T : =it ged] & 37 @7 % [ qe98 ST [weT g

32.

33.

34.

‘Fhgs’ a= | |y ®
(1) @< 9 (2) UM Hfr
(3) foeet =y (4) <o Hiy

e gite 8 g fahed g
(1) fergar (2) dioten
(3) ferTeT (4) @

fopg are H geE Uesd & OSERT gl

g7

(1) W e § 9 @2 999 W T8
TedT |

2) Redl 4 @d 2@ ard gar |ie
Tl T TeaH |

(3) T F d@m & TEEN, V-
TGOT Hl HX STl |

(4) dredl |t & fr, W T2 Qo
EEUREIN

g arm d ‘gemel gRv @ TN geM

g7

(1) 299X FRI Al &1 |

(2) 9T TE YHXOT i ST |

(3) @ & 39 a9 gg au &

(4) I I8 gear ar AT 9% 1 S |
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35.

36.

37.

P A H A AL @ S
g & 7

(1) 9 &9 T T 7B F2l © |
(2) S AR @1 & IW =X GRAAl |
(3) TH BRI & fow B f6ad o e
(4) BB T B, FB H H&T

‘qe TR foEar @Il ae d ugE
fopa fqQITer 1 9% 2R T

(1) hreareen fpar fasor

(2) e foham fLroor

(3) TATE fopar fasier

(4) gRHTErEE R faeer
STGIT HIT Bife -

(1) 96 % q &l I awcll HJAo —
&

(2) RITET & Ues P qHE — YAiE

(3) 8 [WHE TR @ & U -
AEH

(4) SIRT TR TG — el

P.T.O.
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38.

39.

40.

41,

ogE A AT

(1) 8 st g5 oAM= & A9
gl |

(2) T@ # #3 9T @ 2|

(3) T8 BEGM &ad BERl & fu 8|

(4) ¥ T 7O L FHTAT AR E |

fora fomea o ageT w9 7@ 7
(1) argEngd
(2) digfe
(3) IUFEA

(4) ey

/9 & 9 59 fodeg § B8’ @1 9T
T ?

(1) s
(2) T
(3) &=
(4) T

g Y ara foeked g
(1) 9% + 39 = Hewd
2) fo=d + 9@ = a9y

(3) dq + IUTd = TR

(4) 9 + AIqH = TSI

Level-2/3211
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42.

43.

44,

45.

dW-qa9a & gfe 4 oo faecd
gﬁﬂ'{:

(1) ardie — S

(2) EHaT — el

(3) TS — AT

(4) v — Al

fope fohca | & TR BT AT 78T gl
g7

(1) |rr

(2) |EIHAT

(3) JTogEr

(4) |y

=1 d @ e g

(1) WHgE & O em@n o 2|

(2) M ER/T HEHI GAE TE |

(3) FA A [ A B |

(4) fFamt B wad #e o TE 2|
= & ‘Hepr o=’ b faee § FEf R 7
(1) fosmoear

(2) S

(3) AT
4) feieB
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[A]

[ 3735 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

Fill in the blank with appropriate
preposition :

We're going for a drive ........ the
country.

(1) on (2) at

(3) in (4) for

" He wore a turban made of silk."

The underlined words are :
(1) Adverb

(2) Adverb Phrase

(3) Adjective Phrase

(4) Noun Phrase

"There is a mystery about his death and
the police are looking into it."

The underlined phrasal verb means :
(1) To investigate

(2) To take care of

(3) To look behind

(4) To revise quickly

Fill in the blank with appropriate

preposition :

We stayed ................ Mumbai for
five days.

(1) in (2) at

(3) into (4) by

Level-2/3211

50.

51.

52.

53.

54.

Hearing the noise, the boy woke up :
(2) Noun
(4) Participle

(1) Pronoun
(3) Verb

"They arrived soon after."
The word 'after' is used as :
(1) Preposition  (2) Adverb

(3) Adjective (4) Conjunction

Fill in the blank with appropriate

conjunction :

Grievances cannot be redressed
................ they are known.

(1) unless (2) and

(3) but (4) before

Choose the most appropriate modal for
the blank :

When I was young, I

................

climb any tree in the forest.
(1) can (2) must

(3) may (4) could

Choose the correct verb for the blank
from the options below :

The earth ................ round the sun.
(1) move (2) moved
(3) moves (4) shall move

P.T.O.
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55.

56.

57.

Choose the correct answer from the

options below :

"I took it home with me", She said.
(1
(2)

She just took it home.

She said she had taken it home with

her.

She said she would take it home.

3)
“4)

She said she will take it home with

her.

Choose the correct passive construction

for the given sentence.
They were carrying the injured player

off the field.

(1) The injured player
carried off the field.

was being

(2) The injured player will be carried
off the field.

(3) The injured player must be taken
off the field.

(4) Carry the injured player off the
field.

Fill in the blank by choosing the correct
option :

Heis ....coouenene. his glasses.

(1) look for

(2) look

(3) looking for

(4) will look

[12]

58. Choose the correct word for

following expression :

One who makes maps or charts.
(1) Cartoonist
(2) Cartographer
(3) Choreographer
(4) Choirmaster

59.
option :

I have not heard the

.........

news.

(1) latest
(2) late
(3) latter

(4) later

60. Choose

correctly :

the word which 1is

(1) Disentigration
(2) Disintegration
(3) Dissintegration

(4) Desintegration

the

Fill in the blank with the correct

.......

spelt

Level-2/3211
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[A]

HET -1/ PART -1l
qHE 31991 / GENERAL STUDIES

[ AT qRgdT, dliche AT ol €M 319 U9 S1FsTM / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

A@sr : =i god] % Gav @7 & [T qae S [ g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

o frdl ®E @ 2 R # war ® oI
fig 28 6 &9 & &war 21 3 et
fre el ® 39 & @ e ?

(1) 2/3 &&F

(2) 32 &9

(3) 5/3 f&q

4) 3 &9

20 T @ 25 W B W 324 fow F,
e a2 71 8, @ 20 T8 & I
forae e € 7
(1) 124
(3) 200

(2) 140
4) 210

T9 & T gemdell § Ay 6 19 € %
UO% b 3% Ued 1 A S5 S 8
3w 9 § 331 997 & 7

263756429613416391569231654321967

) @
4) I

(1) T
(3)

Fie "BORN" &I "APQO" %< f&al Sl
2, "LACK" & "KBBL" %< f&ar s
g, a1 "GRID" &I &z far ST :

(1) FSEH (2) SFHE

(3) FSHE (4) FHSE

Level-2/3211

61.

62.

63.

64.

Amulya does a piece of work in 2 days
and Bindu does it in 6 days. In how
many days will the two do it together ?

(1) 2/3 days
(2) 3/2 days
(3) 5/3 days

(4) 3 days

A total of 324 coins of 20 paise and 25
paise make a sum of X 71, then number
of 20 paise coins is :

(1) 124 (2) 140
(3) 200 4) 210

How many 6's are there in the following

number series, each of which is

immediately preceded by 1 or 5 and
immediately followed by 3 or 9 ?

263756429613416391569231654321967
(I) One (2) Two
(3) Three (4) Four

If "BORN" is coded as "APQO" and
"LACK" is coded as "KBBL", then
"GRID" will be coded as :

(1) FSEH (2) SFHE
(3) FSHE (4) FHSE

P.T.O.



[A]

65.

66.

67.

68.

s fofegaR ® R wd O 2, T
FH W IH A B G 80 B el
Sl A @ dE 200 ¥ 98 69X
1 Hem e ® 7
(1) 20
(3) 52

(2) 40
4) 60

e B HE-A1 G B T TR B
et € 7

2.14.16

(1) 2,7,8

(2) 2,9,16

(3) 3,21,24

4) 4,16, 18

YT

L & Raamel e 21

II. %8 S Has 2 |

s -

I B S faeel & |e-ar it
G2

IL &1 Hiias e 8 |

= § | g gel B 7

(1) #ad Fehy [ FFaT B ¢ |

(2) Fad Fpy 11 AERST & 8 |

(3) 2t Fepd 1qm 11 STE #3 8 |

(4) 7 MR 17 & 11 FFaRT & ¢ |

I '+ H aned =, X H ded
H AT '+ AR - Fw oard X E, A
16+-8x6-2+12="2

- <

(1) 22
2) 24
3) 23
4) 120
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[14]

65.

66.

67.

68.

There are deer and peacocks in a zoo.
By counting heads they are 80. The
number of their legs is 200. How many
peacocks are there ?

(1) 20 (2) 40

(3) 52 4) 60

Which set of numbers is like the given
set ?

2.14.16
1 2,7,8
2) 2,9, 16
(3) 3,21,24
@) 4,16,18

Statements :

I. All players are doctors.

II. Some doctors are musicians.

Conclusions :

I. Some doctors are players as well as
musicians.

II. All musicians are doctors.

Then which of the following is correct ?

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusion I and II follow.

(4) Neither conclusion I nor II follows.

If '+ mean '+, 'X' mean -,
1.1

mean '+' and '-' mean 'X', then
16 +-8x6-2+12="7

(1) 22
2) 24
3) 23
4) 120



69.

70.

71.

72.

73.

74.

A BH T % C,B&H 1 8, D, C
H TS, EEDHAGIE, ¥ AH DA
N T 8 2

(1) I
(3) &I/

(2) Hriar
(4) FEI/AE

=T 2o T STl 92 ST hifeTe
0,5,22.57, 116, ?

(1) 205
3) 192

2) 216
4) 207

TF o % qN 917 B, I 349 16 @i}

T IR ) R S 2, a9 -g qrT

WS 8, Al < B KT &l B

(1) 24deX (2) 35X

(3) 38X (4) 42X

THh A9 gy H faww R @ genm e
B ® 7
(H 0
3) 2

g8 BIE ¥ BId 9@ T @i, forad
12, 15, 20 31X 54 & 9N 39 W YIS

2) 1
4) 3

Z9M % 8 T B :
(1) 504 (2) 540
(3) 546 (4) 548

I A & T B H AT T 40% FH
A B H AT A B AT fhaw ufaed
afferes & 7

(1) 25% (2) 40%

3) 33%% @) 66%%
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69.

70.

71.

72.

73.

74.

[A]

A is B's sister, C is B's mother, D is C's
father, E is D's mother, then how is A
related to D ?

(1) Daughter (2) Mother
(3) Grand Mother (4) Grand Father

Find the next term of the following
series :

0,5,22,57,116,?
(1) 205
3) 192

2) 216
4) 207

A tank is % part full. If 16 litres of water

is added to the tank, it becomes gpart

full, then total capacity of tank is :
(1) 24 litres (2) 35 litres
(3) 38 litres (4) 42 litres

What is the number of odd days in a

leap year ?
(H o 2) 1
3 2 “4) 3

Find the least number, when divided by
12, 15, 20 and 54, leaves in each case a
remainder of 8 :
(1) 504
(3) 546

(2) 540
4) 548

If A's income is 40% less than that of B.
How much percent B's income is more
than that of A ?

(1) 25% (2) 40%

3) 33%% @) 66%%

P.T.O.



[A]

75.

76.

77.

78.

79.

80.

q8 Bl 9 Bl 9@ #q Fie ed
294 1 O FTh Th YO @ qEA S
ST S 7

(1 3 (2) 4
3) 6 “4) 12
g et 224 2 g O @ e am
5°8°9°13 11
w9 T Fafted & oiar 2 @ 9 e
W HH-8 9= 2rf 7
3 4
(1) < Q)-§
5 6
3) e (4)33

JeH A g gened & efed e

(1) 8 2) 9

1 2
(3) 87 “4) 87
ST HI FT HIOT
(1) EINO (2) HMQR
(3) KPSU (4) NSWX

ST AT I BT AT G WS
120 fopHi/aeer @t TIfq @ QT STem wRT
FR SN 80 fpHI/Aver & T | T Ha
g, @ SH@H qad T Fv R ?

(1) 88 frdiaver  (2) 92 fepHi/auer
(3) 96 fRHETeE  (4) 100 feRHi/aver

I 11 g 10 599 § TR og & g
10 g 11 593 § 59 &9 &, af &
ufqerd 2 -

) 1%
(3) 25%

2) 21%
4) 28%
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75.

76.

77.

78.

79.

80.

Find the least number by which 294
must be multiplied to make it a perfect
square.

(H 3 (2) 4

3) 6 @ 12

If the fractions ggii and 6 are
589 13 11

arranged in ascending order, which one
will be fourth place ?

3 4
(D 3 Q)-§

5 6
3) 3 (4)13

Find the average of first seven prime

numbers.

(H 8 2) 9
1 2

3) 87 (4)87

Find out the odd-one :
(1) EINO (2) HMQR
(3) KPSU (4) NSWX

Arjun travels half of his journey by train
at the speed of 120 km/hr and rest half
by car at 80 km/hr. What is his average
speed ?

(1) 88 km/hr
(3) 96 km/hr

(2) 92 km/hr
(4) 100 km/hr

If 11 oranges are bought for Rs. 10 and
sold 10 oranges for Rs. 11. What is the
gain in percentage ?

(1) 11% (2) 21%

3) 25% 4) 28%



81.

82.

83.

84.

85.

?W@W%ﬁﬁwﬁﬂﬁ
?

(1) && ¥ (2) #re A

(3) =Fgem | 4) T 4
Frfafaa Raenfedl & & fres gaul @l
800 Hiex qs ¥ TREE @9 — 2018 #
@l qad S

(1) e S

(2) Aeid T4

(3) SWU=X f&E

4) TH HAR

BT HT & SN 9 Hemhi § A
& 99 & % ARG A S 4

(1) @t (2) T
(3) T (4) FEaA

el Rl & 9] H i wee

W e #ifT

(a) Seq AT § dewed @ |

(b) SN T | AT HUT & TIH
A H 9T o

gc@aﬁ 4 8 IF-AUBHE-E HI TF o

F 7

(1) Fad (a) T 2|

(2) Fadt (b) TF 2|

(3) 7@ (a) R T & (b) TA B
(4) TN (a) 3 (b) T Z |

el 91 R 1949 A % NN
IYEE & 9NY § FRYGR feam & -

(1) 678 THT
(2) T €@

(3) R el
4) FEE @
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81.

82.

83.

84.

85.

[A]

Where the Vulture Conservation and
Breeding Center situated ?

(1) Kairu (2) Morni

(3) Zhabua (4) Pinjore

Who among the following athletes won
the Gold in Men's 800 m. race at Asian
Games — 2018 ?

(1) Jinson Johnson

(2) Manjit Singh

(3) Arpinder Singh

(4) Rakesh Kumar

The area of Haryana, which was
considered under the sphere of
influence of Bhadanakas during the Pre-
medieval period :
(1) Rewari
(3) Panipat

(2) Ambala
(4) Kurukshetra

Consider the following statements about

Lala Murlidhar :

(a) He practiced Law at Ambala.

(b) He attended the first session of
Congress held at Bombay.

Which of the above statement/statements

is/are true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

The Wahabi leader, who was arrested in
charge of Sedition during 19th
century :

(1) Muhammad Zafar
(2) Ghazzan Khan
(3) Mubarak Ali

(4) Salman Khan

P.T.O.



[A]

86.

87.

88.

89.

90.

Fr=fafad &1 gAferd it
AeE B foram
A. Eo 3Eo Mo Ho (1) ed®
B. 3Eo 3o WHo (i) GG
C. THo Mo Elo (iii) e
D. TJo 3Bo Who Tlo  (iv) FHH&A
e e P
A B C D

(D (i1) (1) (i) (@v)

() (i1) (1) (v)  (ii1)

(3) (iv) (1) (i) ()

“4) (1) () @) @1v)

Foe o # fohae a=etig ot 2 7

(1) a (2) dF
3) T 4) T

Freffad & @ #9-8 B & d99 &9
e STEE B 7

(1) Hard (2) TE=TE

(3) difg (4) fawan

% T O w5 & aR ° fefaiaa

FIA W =R Fife

(a) T ‘A UNOXd THREd’ & &9 §
off ST ST B |

(b) & g 4 TFPE M W UE T
el 1 faera fomar ST |

SEE § 4 FE-A/ERE BT &Y
Bl ?

(1) ad (a) TF B |

(2) Fad (b) TF 2|

(3) Tl (a) R T 2 (b)TH |
(4) T (a) 3 (b) T B |

g § frd dedia € ?
(1) 71 (2) 93
3) 76 4) 68

[18]

86.

87.

88.

89.

90.

Match the following :

Education Institute District

A. LLLT. (i) Rohtak

B. I.1. M. (i) Sonipat

C. N.L.D. (iii) Punchkula
D. N.LF.T. (iv) Kurukshetra

Choose the correct code :
A B C D

H G O @) (v
@ @ @O  (Gv) (>{i)
@ Gy @O @) @G
“4 O @ ) v

How many Wildlife Sanctuaries are
there in Jhajjar district ?

(1) Two (2) Three

(3) One (4) Four

Which of the following districts has the
lowest urban population ?

(1) Mewat (2) Mahendragarh
(3) Jind (4) Sirsa

Consider the following statements about
KMP Expressway :

(a) It is also known as Western
Peripheral Expressway.

(b) Five new cities will be developed
along with the KMP Expressway.

Which of the above statement/s is/are
true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.
(4) Both (a) and (b) are true.

How many Tahsils are there in Haryana ?
(1 71 (2) 93
(3) 76 4) 68

Level-2/3211
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[A]

AT - IV / PART = IV

{asT< / SCIENCE

3T : [T ged] & a7 @7 % [ qe98 ST [weT e

Direction : Answer the following questions by selecting the most appropriate option.

91.

T DA IH A & A A
w7

€]
2)

ST qn o At
AR AT v

(3) eTgF®

qYT ARIYS

EIERI

92.

93.

94.

(4) ST TAT ARAA F A dl

(a) HiTTsit (CNG), (b) @ T (c)
Ui | SURT HlEH GRS I HE
N TEl FH B
(I) a>b>c
(3) c>a>b 4) a>c>b

el & G-l & |y gAfer s
qg g & A RY T R e
T 98 IO #9499 HieW
-1 QE-11

(ceheh) ()
(a) FIRGR (i) dlo To THo
(b) FHFH (ii) JrFich &g
(c) STEHMA (iii) -6
(d) TrRiFReE (iv) Gio dlo Ho

@@ (d (© (@
I @ Gy G (@(v)
() @v) (@) @ (i)
3 Gv) @O  G) (i)
@ (@v) (@) @G) (@)

afulEr 250, +0, = 2505 ;

AH = —45 kcal % fo@ 71 & & @9-1
FHT TEl § ?
(1) feR @ W ok 9 &

AR & [ Fedd BRm
(ngﬁmafﬁﬁw%%qm

(3) TE FEMT ANERA & [T HWed®
=Rl

(4) 9 1, 2 ug 3 9 orfufhar & foro
TEg® el &

(2) b>c>a
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91.

92.

93.

94.

Which one of these pair is exclusively
of vestigial organs of human ?

(1) Coccyx and pinna muscles

(2) Coccyx and premolar

(3) Coccyx and intercostal muscles

(4) Coccyx and facial hair in women

The correct sequence of number of
carbon atoms present in (a) compressed

natural gas, (b) diesel and (c) petrol is :
(1) a>b>c (2) b>c>a
(3) c>a>b 4) a>c>b

Match List-I with List-II and select the
correct answer by using the codes given
below the list :

List-I1 List-I1
(Monomer) (Polymer)
(a) Chloroethene (i) P.A.N.
(b) Caprolactum (i1) Natural rubber
(c) Isoprene (iii)) Nylon-6
(d) Acrelonitrile @iv) P.V.C.
Code :
@ b © @
I @ G 3 aGv)
(2) Gv) @G @G (i)
3 Gv) @ @) (i)
4) Gv) (@) 3G) @)

For the reaction 2SO, + O == 2S0s;

AH = —45 kcal, which one of the

following statement is correct ?

(1) The reaction is favoured by the
addition of inert gas at constant pressure

(2) The reaction is favoured by the
increase in temperature

(3) The reaction is favoured by the

increase of pressure

(4) The reaction is favoured by the

condition 1, 2 and 3

P.T.O.



[A]

95.

96.

97.

98.

g & 8 a9 0% @@ W@ &

SR &l bl H IEERM E 7

(i) SfeRfEReT Sfad (i SiterdieTe)
TETel I B

(i) agles fe=i & U

(iii) AFT T JHRT AT S H TN
Eacy

(iv) I [G@TT &1 YA
(1) (i), (i) T (iv)

(2) (i), (i) T (iii)

(3) (i), (iii) T (iv)

(4) IR AR

& el W 200V, 300W T 200V,
600W i &1 3 B AMRH § e
g T 3 HaeH 200V $ e awr Ha
q el 8, 0@ = F @ e 9o
e 2 ?

(1) F B T S I~ BT

(2) 600W & ZeX H 21 HEAT I
ERli

(3) 300W @& &Y § 31 H SO~ BFl
(4) = 9 g 7
U I & “AEE = 2

(A) 9®ET g1 (B) & 99
(©) goT (D) STER
(1) AT B (2) CwW@ D

3) B,CuwW D (4) A,B,Cu D

fFed & vard & ofuaadid 1.25 B
TORE 589 nm FH UHIT TN FH
gedya® qRdEfid HH & o e &l

(1) 88.5nm (2) 118 nm
(3) 177.5nm  (4) 236 nm
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[20]

95.

96.

97.

98.

Which of the following strategies are
useful for preventing oxidation of food
stuffs ?

(i) Addition of antioxidants
(i1) Keeping food in airtight container

(111) Use of flush bags containing inert
gases

(iv) Addition of buffer solutions
(1) (1), (i1) and (iv)

(2) (1), (i1) and (iii)

(3) (i), (iii) and (iv)

(4) All the four above

Two heaters are marked 200V, 300W
and 200V, 600W. If the heaters are
connected in series and the combination
connected to a 200V dc supply, then
which option is true out of the following ?

ey
2

Both the heater will produce same heat

heat produced in 600W heater is
more

3)
“4)

The "essential whorls" of a flower are :
(A) Calyx (B) Corolla

(C) Androecium (D) Gynoecium

(1) A and B (2) C and D

3) B,Cand D 4) A,B,C and D

heat produced in 300W heater is more

None of these

The refractive index of the material of
the film is 1.25. The minimum thickness
of a film which will strongly reflect the
light of wavelength 589 nm will be :

(1) 88.5nm  (2) 118 nm
(3) 177.5nm  (4) 236 nm



99.

100.

101.

102.

103.

-l & GE- & A gl i
qq g & A RY T R e

q TEl IAY #1999 FHI -
-1 -1
(P (ee)
(a) draq (i) Cu T3 Sn
(b) HiET (ii) Al Cu, Mg TG Mn

(©) LI (i) Al T Mg
(d) FHRRE  (iv) Cu TG Zn
EE' :

(a) b)) (© @@
(H @  Gv) @) (i)
2 Gv) © @G (i)
3) Gv) @ (@) (>{1)
4 @ @G @G @Gv)
e Qe e g9eme FOeE & Ay
THEAFEl s &
(1) NaCl (2) Nal
(3) K,S (4) CsF

He & ged o Suned gadl 9el, awgett
% 1 Bl B 1 3 qgel H Fed ©
(1) g g

(2) HAFE

(3) itz

(@WW

U T B, T ®E & 99 (L = 1.5)
fSTeR 1T 6.0 cm B % E &dl &Y
W TR IR Y W TN W RS
W gsd e fhe A9 @ fadd gu
TRl B ?

(1) 1.0cm (2) 2.0cm

(3) 30cm 4) 6.0cm

TARAT & AR, #E8Y @R SRR H 8IE
51 T | MY | O e e M 12 P s M | e
2T 8, Feard ® ¢
(1) &I & aear
(2) STl
(3) eMfest

(4) &t

(yizd =fe)
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99.

100.

101.

102.

103.

[A]

Match List-I with List-II and select the
correct answer by using the codes given
below the list :

List-I List-II
(Alloy) (Constituent)
(a) Brass (i) Cu and Sn
(b) Bronze (i) Al, Cu, Mg and Mn

(¢) Duralumin
(d) Magnellium

(iii) Al and Mg
(iv) Cu and Zn

Codes :

@ b © @
(H @  av) (@) (i)
2 Gv) @  @G) (i)
(3) Gv) (@  (u) (i)
4) 1 @) @@ Gv)

The compound in which cation is
isoelectronic with anion is :
(1) NaCl (2) Nal
3) K»S (4) CsF

In Frog heart, there are cardiac muscles
which consist of fibres called :

(1) Purkinje fibers

(2) Myonemes

(3) Telodendria

(4) Columnae carnae

A printed page is kept pressed by a
glass cube (U = 1.5) of edge 6.0 cm. By
what amount will the printed letters
appears to be shifted when viewed from

top ?
(I) 1.0cm (2) 2.0cm
3) 3.0cm (4) 6.0cm

In malaria, the product released by
mosquito into blood that cause chill and
fever, is called :

(1) Schuffner's dot

(2) Rhizotoxin

(3) Hematin

(4) Haemozoin

P.T.O.



[A]

104.

105.

106.

107.

108.

100.

AT & FeREEY 787 el §
(1) @i § &1

2) T Wﬂ; ;_’{m g

(3) TR

(4) 9 % a9 § ghs

g & wH ¥ SR 2dn §

(1) =HISE i kR Zam
) mﬁéﬁﬁﬁﬁm?ﬁrmm
(3) mﬁa‘rﬁmaﬁmm
(4) TSR # AR @

99 T YR L a9 ufaud R, T 12V
qgr SOHz & YA & & Svieed
e o 2 a9 0.5 A #l 4 gRuy #
veaifed Bl 81 o, SANiad dkedr 9
%%W%Wﬁ%uzaﬁrrm

(1) 4Q 2) 6Q

(3) 8Q 4 120

T & fawda qa @ geem, 98

awé@a%frﬁri%@aﬁﬁgﬁr%

(1) Teol-1I & aH

(2) MEA-1 & AR

(3) FaH-Il & A

(4) TIBA-II & S

frfofad & @ SH-a1 96giEl & g
7 T ?

() @™ % T § sRaggas &
IufRerfa

(2) T & T H IGIdh Dl IR

(3) URY % JFEE G WX HEE 9Rd
U

(4) T H AR BB Hl IURAR

1 & 9 39 w9 g oemaEr 9
oAty 78 foRar S g ?

(1) T Il T

(2) U Gl gl
(3)@@%@%(%)

(4) UF d1d P B
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104.

105.

106.

107.

108.

109.

Deforestation does not results in :
(1) Decrease in rainfall

(2) Increase in soil erosion

(3) Increase in ground water level
(4) Increase in earth's temperature

Spermatids are transformed into
spermatozoa by the process of :

(1) Spermiation

(2) Spermiogenesis

(3) Spermatosis

(4) Spermatogenesis

When an inductor L and a resistor R in
series are connected across a 12V, 5S0Hz
supply, a current of 0.5 A flows in the
circuit. The current differs in phase
from applied voltage by /3 radian. The
value of R will be :

(1) 4Q 2) 6Q

(3) 8Q 4 12Q

The microtubules from opposite poles
of the spindle get attached to the
kinetochores of sister chromatids during :
(1) Prophase-II

(2) Prophase-I

(3) Metaphase-II

(4) Anaphase-II

Which of following is not an adaptation

for Xerophytes ?

(1) Presence of chlorenchymatous
tissue in stem cortex

(2) Presence of sclerenchymatous
tissue in stem hypodermis

(3) Presence of waxy layer on aerial
plant parts

(4) Presence of aerenchymatous cells

in stem

Which of the following can not be
charged easily by friction ?

(1) A woollen cloth

(2) An inflated balloon

(3) A plastic scale

(4) A copper rod



111.

112,

113.

114.

(1) 64
3) 41

(2) 32
4) ol

(1 1°

(3) &°

HOT TG HRU B GeHL Tel [dehed

g -

FT (F) - I wgEEEl & A«
YAl % B4 % 9 ged
fEgfor 2 2 |

PR () 3= AMUH T TR
I Bl B |

(1) 31 ©qq 9 IF1 aF & q 4, oF &
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111.

112.

113.

114.

[A]

How many effective codons are there
for the synthesis of twenty amino acids ?
(1) 64 (2) 32
(3) 41 4) 61

A thin glass prism of refractive index
1.5 produces a deviation of 4° of a ray
incident at a small angle. What will be
the deviation of the same incident ray
by the same prism if it immersed in
water of refractive index 4/3 ?

(1 1° (2) 2°

3) 8&° 4) 16°

Read Assertion and Reason and select
correct option :

Assertion (A) : All members of bee

society are diploid
except the drones.

Reason (R) : Drones are  produced
parthenogenetically.

(1) Both A and R are true and R is the
correct explanation of the A

(2) Both A and R are true but R is not
the correct explanation of the A

(3) A s true but R is false
(4) A and R are false

The time period between a full moon to
the next full moon is :

(1) 28 days

(2) slightly longer than 28 days

(3) 29 days

(4) slightly longer than 29 days

Which of the following does not
contribute towards the formation of
photochemical smog ?

(1) NO

2) SO,

(3) 03

(4) Volatile organic compound

P.T.O.
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115.

116.

117.

118.

119.

The seeds of which of the following
plants are not dispersed by wind ?

(1) Calotropis

(2) Cotton

(3) Coconut

(4) Drumstick (Moringa)

Which of the following compound is
responsible for tarnishing of silver ?

(1) Ag,0 (2) Ag,CO;

() AgyS (4) AgCN

Clothes obtained from cellulose are :
(1) Cotton and Rayon

(2) Rayon and Nylon

(3) Nylon and Silk

(4) Silk and Cotton

Which of the followings

applications of common salt ?

(i) Itis used as preservative.

(i) It is used for manufacture of Na
metal and Cl, (g) by electrolysis in
molten state.

(i) It is
caustic soda.

are the

used for manufacture of

(iv) It is used for manufacturing baking
soda and washing soda by Solvay
process.

(1), (i1) and (ii1)

(1), (i1) and (iv)

(i1), (iii) and (iv)

All of the above

ey
2
3)
4

Which power plant works on the basis
of gravity of earth ?

(1) Geothermal
(2) Windfarms
(3) Hydropower

(4) Nuclear power
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120.

121.

122.

123.

124,

[A]

Which of the following alkene will give
the same product when treated with HBr
in presence and absence of peroxide ?
(1) Propene

(2) Butene-2

(3) 2-methyl propene

(4) Butene-1

The antiseptic action of dettol is due to :
(1) Chlorobenzene

(2) Chloroxylenol

(3) Chloroquine

(4) Chloroacetylene

In which medium the speed of sound
will be maximum ?

(1) Water (2) Copper

(3) Steel (4) Aluminium

The actual weight of a person is mg.
When the lift is moving uniformly in
upward direction, the apparent weight
of the person in lift will be :

(1) zero (2) mg

) mig+a) (4 m(g-a)

Match List-I with List-II and select the
correct answer by using the codes given
below the list :

List-I List-II
(Chemical (Application)
Substance)

(a) Bleaching Powder (i) Preparation  of
glass

(b) Baking Soda

(c) Washing Soda

(d) Plaster of Paris

(i) For making toys
(iii) Decolourisation
(iv) Antacid

Codes :

@ b © (@
(1) Gi) Gv) (@) (i)
(2) ) @  (@v) (i)
(3) (i) @Gy @Gv) @
4) ) 34v) (@@ (i)

P.T.O.
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125.

126.

127.

128.

129.

130.

Which of the following are exothermic
processes ?

(i) Reaction of water with quick lime
(i1) Melting of ice

(ii1) Evaporation of water

(iv) Dilution of an acid

(1) (1) and (i) (2) (ii) and (iii)

(3) (1) and (iv) (4) (iii) and (iv)

Fractional distillation method is used for

purification of liquids when there is a :

(1) Small difference (less than 25°C) in
their boiling points

(2) No difference in their boiling points

(3) Large difference (greater than
25°C) in the boiling points of liquid

(4) Small difference in the melting points

The compound 1, 2-butadiene has :

(1) Only sp hybridized carbon atoms

(2) sp, sp° and sp3 hybridized

carbon atoms

Only sp hybridized carbon atoms

Both sp and sp2 hybridized
carbon atoms

3)
4

Which of the following pair gives 1°
carbonium ion by heterolysis of C-Br bond ?
(1) Isopropyl bromide, isobutyl bromide
(2) Isobutyl bromide, sec - butyl
bromide

Neo-pentyl bromide, iso-butyl bromide
Active amyl bromide, iso-propyl
bromide

3)
“4)

Which of the following is not a
carbohydrate ?
(1) Stevia

(3) Cellulose

(2) Starch
(4) Lactose
Zn—Hg ?
HCI
with Zn — Hg/HCI as reducing agent, it
would not be possible to prepare the
following :
(1) Propane
(3) Propene

In the following reaction x

(2) Isopentane
(4) n-pentane
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131.

132.

133.

134.

[A]

Read Assertion and Reason than select

correct option :

Assertion (A) : Termites and ants are

social insects.

Reason (R) : Both  establish  fungus
garden in their nests to
feed on fungus.

Both A and R are true and R is the

correct explanation of A

Both A and R are true but R is not

the correct explanation of A

A is true but R is false

Both A and R are false

(D
2)

3)
4

Loss of water from the plant body takes
place through :

(1) Stomata, cell wall of mesophyll
cells and hydathodes

Stomata and cell wall of mesophyll
cells

Stomata and hydathodes

Cell wall of mesophyll cells and

hydathodes

2)

3)
“4)

Phenetic classification is based on :

(1) Observable  characteristics  of
existing organisms

(2) Deudograms based on DNA
characteristics

(3) Sexual characteristics

4

The ancestral lineage of existing
organisms

A stone is dropped from a balloon
going up with a uniform velocity of
5 m/sec. If the balloon was 50 m high,
then the stone was dropped, the height
of balloon from ground when stone hits
the ground will be : (g=10 m/sz)

(I) 63.5m (2) 65.5m

(3) 68.5m (4) None of these
P.T.O.
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135.

136.

137.

138.

139.

Which of the following has least value
of 'packing efficiency' ?

(1) Body centred cube

(2) Face centred cube

(3) Closed packed hexagonal

(4) Simple cube

Which of the following animal is unisexual ?
(1) Tapeworm (2) Leech
(3) Cockroach (4) Earthworm

In linear simple harmonic motion of a
particle, at the extreme position of

particle :

(1) both velocity and acceleration are
maximum

(2) both velocity and acceleration are
minimum

(3) velocity is maximum  and
acceleration is minimum

(4) velocity is minimum and

acceleration is maximum

A bullet is fired from a gun. The force
on bullet is given by F = 600 — 2 X 10° 1,
where F is in Newton and ¢ is in
seconds. The force on the bullet is
reduced to zero as soon as it leaves the
barrel. The average impulse imparted to
bullet is :

(1) Zero

(3) 1.8 Ns

(2) 0.9 Ns
(4) 9.0 Ns

A uniform chain of length L and mass m
is lying on a smooth table and one third
of its length is hanging vertically down
over the edge of the table. If g is the
acceleration due to gravity, then work
required to pull the hanging part on the
table will be :

MgL MgL
) —— 2) ——
(1 6 2) 9
MgL MgL
it Sk 4) 28&
3) 12 4 18
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140.

141.

142.

143.

144.

145.

146.

[A]

A nucleus is present in :
(1) Mycoplasma

(2) Amoeba

(3) Bacteria

(4) Blue-green algae

The moon would depart from the
gravitational field of earth forever, if its
speed increased nearly by (in percent) :
(1) 22 (2) 24

(3) 42 (4) 38

Three resistor, each equal to 3€Q, are
connected so as to form a triangle. The
equivalent resistance between any two
vertices of the triangle is :
(1) 1Q (2) 2Q
(3) 3Q 4) 9Q

The endosperm in gymnosperms is :

(1) Polyploid (2) Triploid

(3) Diploid (4) Haploid

Which of the following is diamagnetic ?

(1 Oy 2) O3

3) 05 @ 05

Which of the following is an example
of a 'higher plant' ?

(1) Horse tail plant

(2) Lichen

(3) Peziza

(4) Ephedra

If o, B and 7y are the coefficients of
linear, area and volume expansion of
the solid cube, the relation between o, B
and yis :

(1) 60.=33=2y

(2) 3a=6B=7

(3) 60.=2p =3y

4) 3o=p=2y

P.T.O.
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(2) B2
(4) B8

(1) 0.25 sec
(3) 0.75 sec

(2) 0.5 sec
(4) 1.0sec
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147.

148.

149.

150.

Which among the following is strongest
base in gas phase ?

(1) Triethylamine

(2) Diethylamine

(3) Ethylamine

(4) Ammonia

The magnetic field at the centre of a
circular coil of radius r and carrying a
current / is B. What is the magnetic
field at a distance x =+/37 from the
centre, on the axis of the coil ?

(1) B (2) B2
(3) 8B (4) B/8

The height of Niagra falls is 50 m. If
J = 42 J/cal, the difference in
temperature of water at top level and at
the bottom level of fall will be :

(1) 0.117°C  (2) 0.49°C
(3) 0.82°C (4) 2.05°C

A particle executes SHM of amplitude
25 cm and time period 3 sec. What is
the minimum time period required for
the particle to move between two points
located at 12.5 cm on either side of the
mean position ?
(1) 0.25 sec

(3) 0.75 sec

(2) 0.5 sec
(4) 1.0sec
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